Installation Guide

Triangular Support Bracket

Model: SRLTRISUPPORT

Constructed of ¥4” x 2” aluminum, the SRLTRISUPPORT Triangular Support Bracket provides wall support for cable runway.

Espanol 2 ¢ Francais 3 * Pycckuu 4

L] &
Bracket (x1) M8 J-Bolt (x2) M8 Lock Washer (x2) M8 Hex Nut (x2)

Cable Ladder Not Included Cable Ladder Not Included

T E—

g

Bracket weight capacity is 100 Ib. (45 kg). The mounting surface must be able to safely support the combined load of the equipment.
Use appropriate fasteners (not included) to secure the bracket to the wall. Use suitable mounting means when installing to cinder block,
concrete, drywall or wood studs.

TRIPPLITE ®

Excellence

1111 W. 35th Street, Chicago, IL 60609 USA * www.tripplite.com/support
Copyright © 2018 Tripp Lite. All rights reserved.



Guia de Instalacion

Soporte de Apoyo Triangular

Modelo: SRLTRISUPPORT

Construido de Aluminio de ¥4” x 2”, el Soporte de Apoyo Triangular SRLTRISUPPORT proporciona soporte de pared para
canaletas de cables.

English 1 * Francais 3 * Pycckun 4

Lista de Partes

L] &
Soporte (x1) Tornillo en J M8 (x2) Arandela de Seguridad M8 (x2) Tuerca Hexagonal M8 (x2)

Escalerilla para Cables
No Incluida

Escalerilla para Cables
No Incluida

T E—

La capacidad de carga del soporte es de 45 kg [100 Ib]. La superficie de instalacion debe ser capaz de soportar el peso combinado de
A los equipos. Use sujetadores adecuados (no incluidos) para fijar el soporte a la pared. Utilice los medios de instalacion adecuados para
realizar la instalacion en un bloque de hormigon, concreto, tabla roca o travesanos de madera.

TRIPP LITE ©

Manufactura

1111 W. 35th Street, Chicago, IL 60609 EE. UU. * www.tripplite.com/support

Copyright © 2018 Tripp Lite. Todos los derechos reservados.
2



Guide d'installation

Support triangulaire

Modéele : SRLTRISUPPORT

Fabriqué en aluminium de 6,35 mm x 50,8 mm (¥4 po x 2 po), le support triangulaire SRLTRISUPPORT fournit un support
mural aux courses de cables.

English 1 « Espanol 2 * Pycckun 4

Liste des pieces

L] &
Support (x1) Boulon en J M8 (x2) Rondelle d'arrét M8 (x2) Ecrou hexagonal M8 (x2)

B 0

Echelle & cables non incluse Echelle & cables non incluse

T E—

La capacité pondérale du support est de 45 kg (100 Ib). La surface de montage doit pouvoir supporter sans risque la charge combinée
de I'équipement. Utiliser des fixations appropriées (non incluses) pour retenir le support au mur. Utiliser des moyens de montage
appropriés pour une installation des blocs de machefer, du béton, des cloisons séches ou des colombages en bois.

TRIPPLITE ®

Industrielle.

1111 W. 35th Street, Chicago, IL 60609 USA * www.tripplite.com/support

Droits d'auteur © 2018 Tripp Lite. Tous droits réservés.
3



PykoBoACTBO N0 yCTaHOBKe

TpeyronibHbIN ONOPHbIN KPOHLUTEUH
Mogenb: SRLTRISUPPORT

TpeyronbHblit onopHblit KpoHLTelH Mo, SRLTRISUPPORT, 3roToBneHHbIil 13 antoMuH1eBoro npoguns pasmepom %" x 2°,
obecneunBaet KpenneHue KabenbHOro Tpana K CTeHe.

English 1 * Espanol 2 ¢ Francais 3

Komnnekrauyusa

5 &3 o
KpoHweitH (1 wr.) Kptoukosoii 6ont M8 (2 wr.) KonTpuwaiiba M8 (2 wr.) llecturpanHas raika M8 (2 wr.)

NMopanok c6opku

‘ KabenbHblil Tpan B KOMMAEKT He BXOAUT

KabenbHblil Tpan B KOMMEKT He BXOANT

S a—

Fa) Fe)

Hecywan cnoco6HocTb KpoHLuTeliHa: 45 Kr. MoHTaXHas NOBEPXHOCTb AOMKHA C 3aNacoM BbiAePKMBaTb CyMMapHYI0 Harpy3Ky, co3gaBaemylo 060pyaoBaHuem.
[inA Kpenneua KPoHLUTEIIHA K CTeHe MCMoNb3yiiTe NOAXOAALLME ANA STO LN KpenexHble AeTany (B KOMNAEKT NOCTaBKM He BXOAAT). [Ipy KpenneHum K 6eToHy, Wwnako6eToHy,
TUNCOKAPTOHY MNM CTOMKaM AepeBAHHOI0 KapKaca UCMonb3yliTe COOTBETCTBYIOLE MOHTAXHbIE NPUCNOCO6neHN.

TRIPPLITE

TpoayKUUA BbICLET0
kavecrea

1111 W. 35th Street, Chicago, IL 60609 USA - www.tripplite.com/support

OxpaHsetca aBTopckum npasom © 2018 Tripp Lite. Mepeneuatka 3anpeLyaetca.

4 18-03-302 93-383B_revA



